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Year 8 — Representations

Tables & Probability
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I M I'l Qutcomes: the result of an event that depends on probabity
: : : Probabilty: the chance that something wil happen
| Bythe end of this unit you shoud be able to: | | Set: i collection of objectss
| ° gjﬁﬁﬁ;ﬁg&:ﬁoﬁ Sd'%m’” : : Chance: the likelinood of a particular outcome.
| ° » ity — |
|+ P the probabily from o Labs | | Event: the Qutgome of a probabilty — a set of possivle outcomes,
| Findthe probabily from Vemn dagrams | | Biased a bult in error thal makes al valves wrong by ai certain amount
| |1 Union: Notation "U” meaning the. set made by comparing the. elements of two sets
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: This is the sef
| The. possivle cutcomes from roling a dice notation to Ist the I between the { } are
| ) ' " outcomes $ = a; the possible
| % S 1123 4]|5]|6 outcomes
: b e d § o Ho|an [ an |45 | o0 | e
T gggf;fc v'fgﬁg;% “h g % T far|ar[ar]ar]er S = { K2, 3, 4 5, 6, I T, 3T, 47, 57, 61)
: outcomes from events 2 =
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: PfObablitlI from Sample Space What is the probabilty that an outcome There are three
| The possible outcomes from roling a dice has an even number and a lai? ev?numbers ?;EE Numerator:
I - r L ;
| g = 1 2 3 4 5 6 This is the set . the evert
2 P (Even number and Tails) = 3.
| = S rotation thal _—% i
| = 5 HOJ W[ ) SH |40 O 1O | recents the 12 Penomnalor
B g the total number
: g % Il @ ! @ i question P Ir{ht:ze tewsﬁ thfeg {)f \ There are twelve  of outcomes
I = il possibe. outcomes
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| Probabilty from two-way tables /The evert |, Product Rule
I
} Cor | Bs | wak | Totd | P (Gir wak toschoo) = 21, [
| |_ l|  The number The number
| Bogs | A4 4 53 00 :I of tems in of tems in
: Gk |6 |20 I@ 47 N The todn e |: L even. b
to|
Totd | 21 |44 [ 3 L0 bl |
: = [ ¥ The total romber of tems :I
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| Probabﬂtu f rom Venn dlaofamg 100 students were questioned if they played badmirton or went to swimming club
M — 40 went swimming, 25 went to badminton and 11 went to both
s who
{ everyone. that went This whole curve includes
| SWimming Swimming Badminton everyone. that went to
| Becae Il dd both ™ / badminton p .
| caulate just swimming by Because |1 dd both we Uust SWIIYIIYIII’I@) = 29
l 40- 1l caculate st badminton 100
[ by 25- I
{ The intersection
[ represents both=1 ‘I\ The number outside represents those
| Swimming GND badminton that did neither badminton or swmming 100 — 29— [ - 14
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